
Errata

Page Line
6 t11 (ix) right side should be a · b + a · c.

7 Proof of Theorem 1.2
(i) a > b and b > c means a − b ∈ P
(ii) a > b and c ≥ d means a − b ∈ P
(iii) a > b and c > 0 means a − b ∈ P

10 b15 Theorem 1.6 should be Theorem 1.3

13 b14 If B ⊂ A, and B is nonempty,

19 t6 for 0 < |x| ≤ 1.

21 t3 2n3+3n2+n+6(n+1)2

6

21 t4 2(n+1)3+3(n+1)2+n+1
6

22 b12 m(m + 1)/2.

59 t7 0 ≤ sin x ≤ x for 0 ≤ x ≤ π
t9 −x ≤ sin x ≤ 0 for −π ≤ x ≤ 0.

72 b12 |f(x) − f(y)| < ε for all x, y ∈ A such that |x − y| < δ.

105 b7, b9 f(x) = x/(1 + |x|), f ′ = 1/(1 + |x|)2.

161 b4 f should be x∗.

165 b1 f(xn) + f ′(xn)(x∗ − xn) + R(x∗, xn)

178 b1
∫ b

a
f = b − a.

179 t15 Let a = x0 < x1 < · · · < xn = b
t17 subinterval (xi−1, xi)

181 b3 The explanation for inequality 7.4 is not correct. It should read:
For each i ∈ J , there is an index j such that [yi−1, yi] ⊂ [xj−1, xj].
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This implies Mi ≤ sup[xj−1,xj ]
f , mi ≥ inf [xj−1,xj ] f . Hence

285 t11 collection of open set Uk

305 b11 〈∇f(z),x − y〉.

329 b8 Theorem 4.5 should be Theorem 11.4

333 b5 f(x + h) = Df(x)h + R(h).

337 t3 ≤ δ + ‖x1 − x0‖ = ...

354 t3 delete “which implies ” and replace with the following:
If f(x) = f(y), then we must have x = y. For x 6= y,
we can divide by ‖x − y‖ and deduce that

371 b3 r(0) = a.

376 t10 2pyv1v2 ≤ s1(v
2
1(x + 1)2 + y2v2

2) + s2(v
2
1(x − 1)2 + y2v2

2)
= [s1(x + 1)2 + s2(x − 1)2]v2

1 + [s1 + s2]y
2v2

2

Then (11.37) and ( 11.39) imply that
〈Df(x, y)v,v〉 ≥ [px − s1(x + 1)2 − s2(x − 1)2]v2

1 + [qy − (s1 + s2)y
2]v2

2

≥ (r1 + r2)(v
2
1 + v2

2).

377 b8 However, by (11.37), (11.38) and (11.40)

380 t16 b) From (11.41)

411 t5 −∇f(x) points into the interior of K.

411 b12 Because the indices are j may not be consecutive, we may not have
f(xj+1) = f(xj − tj∇(xj)), but we do have f(xj+1) ≤ f(xj − tj∇(xj)).

427 b8 c = (c1, . . . , cn).

447 t14 The Jacobian matrix should be
Dφ(â) = [I,Dp(â)T ]T

452 t1 Let f(x, y, z) = x + y + z,
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533 b2 S = {(u, v) : a ≤ u ≤ b, 0 ≤ v ≤ 1}.

609 b 12 Q2(x) = 8(1 −
√

2)(x/π)2 + (4
√

2 − 2)(x/π).

622 b 8 The max of f |S occurs at a = (2/
√

5, 1/
√

5,−2/
√

5) with λ =
√

5/2

and µ = −1. The min occurs at −a with λ = −
√

5/2 and µ = −1.

626 t8 1. There is a sequence yk ∈ g(D) with yk converging to y0.
Let xk = g−1(yk).
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